3-Digit: S2
Addition Word Problems

1)  AtTexmart, there are 889 employees working in the first shift. If the second shift has
970 employees at work, how many employees work in the two shifts?

2)  Henry collected 244 pine cones, and his brother gathered 298 pine cones. How many
pine cones did they collect in all?
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5) Fiona, who runs an online store, uses 56/ white pearls and 311 black pearls to make
necklaces. How many pearls does she use altogether?

6) There are 842 red maple trees and 795 pine trees in a garden. How many trees are
therein all?
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